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Background
- who are the authors ?

- what is an overlay ?
- what are the problems with BGP

this
paper is trying to solve ?

1) Internet paths can fail
.
. . BGP reacts slowly\

T
why? Give youtube

2) App might want some example
say on routes its traffic
takes

3) Net owner might want to enforce some

complicated policy on traffic



Row runs on normal machines
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Breakout Rooms

{Explain how traceroute works

with picture .
]
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Goal : ①Find longest trace route path
that

you can .

(2) Find most lossy path that
you can .

(Try to trace route Is each other .)



Resilience
.

- What is resilience in this context?

- why does it take a while for
BGP to notice route failure?

- How does RON react faster ?

↳ ineiiswenent?
↳ More performance data collected

( latency, loss
, throughput)

When do we care most about ?

Latency ? d-udiolwiteo chat

Loss? Stream transfer

Throughput ? Netflix

Others ? Political consideration



- Could RON make net performance wage ?
- Extra hops
- Extra processing
- Extra policy restrictions ?
-

"

too clever "
- b/w consumption

- Scaling : Why doesn't Row scale to

thousands of nodes ?

↳
Quadratic cost of poblestf

- How costly are the probes
?

↳ worth it ?



Why don't we use Ron ?

- Scaling is one major issue

- for whom is it worth the trouble?

↳ Maybe Google , but they run
their own fiber ?

- Can
you

run ROW w/ mutually distrusting
parties ?

- How frequently do we see net outages of
the kind that Ron could fix ?
↳ worth the cost ?

Example of ore that is used : Tor

↳ Not for performance but for
functionality


